® 5 A 6 @ 9 B 24

@D 2



2.

Az e 5 24945 thewt go] FA4 2 e glay
a

A=2X2X3X7T B=2X3X7X7

@® 2x3

@ 2x3x7

@ 2x3xTx2x7
@ 2x3xXTX2x3%X7

B 2X2X2X3X3XTXTXT









[a\W e

<t I~

10 | ©

— <t

™






o

w
Nfo
Bo

oln

o] RHA]

@

) =(I A1 B)x3.14 Uk,

!



®
B2

B
e

BH



ol g7yt

He] 2717 tE YT

ZA40] 1271t

Bl o] dol7t BE Ayt

St W o] 7129l A2 o] Aol =Yt



10. kg ARl A AR 1 uo] Balel WL ol A7}

- =




11.

3

HEAE 192 20 kg, 2 HHS 24— kg, 3 HHS 32
ﬂ‘rr]a 4 g 11 g 8

Yok, Al "hoflA 22

17
k
g <8

@ 778—

o

5

A& 25 2 kg QU7F

78— kg ® 78

17
Ty
88 8



3
:47
5

1

9
— -3
10 4+

5

13 17 19 19 17
= 1— p 1— -
20 @ 155 ® 255 @ 155 © 755

D 2



—x1

— M o
X X
— | <HO |~

Q@ ©

— <t N
X X
— O [

©@ ©



14.

0.1°] 357H, 0.01°] 357H, 0.001©] 357 &
e ZE a2AL.

177 119
0 e
@ 3 ® 3—

1000 200



o|J
P

259 ASE ¢

0.35 R0t 2.3 0.45 K} Zhe B Zof 7)ok

15.

o

@ 270 ® 371 @ 470 3 570

@D 174



16. 176 x 248 = 43648 92 &1, o}

JIE2AQ,

D 176 x 0.248 = 436.48
@ 17.6 x 248 = 4.3648

B 176 %X 0.248 = 43.648

rlo
tlo

@ 1.76 x 248 = 43.648

@ 176 x 2.48 = 4.3648



17. o= WeAle shA L.

2
2-+9=
5

S




18, oh& AN s a9 B Holt 17 em? AUk AT R

o] ol em? YUY

L =
| S |
5 3 3
@ ]-élfch @ 1(238ch ® 2ﬁ0m2
@ 4=cm? ® 8=cm?



A2

=
3]
<t b~
]
©
2m m
© -
Q ©
E:
97M_1Lu7
@ ©



[NRIYS

— |

® 0.3

— <t

o



(V)
|—l
i
mlo
ofN
HY)
i
r <]
)
|
:
"
i
Auj
)
pou
rlo
2
r
Py
rO
R}
k]
it
>
o

@ 240a =2.4ha @ 0.12km? = 1200 a
@ 97.2ha = 972000 m?2 @ 3140a = 3.14ha

3 3500000m2 = 3.5 km?



22. t& WAl § Kol 2014 301519l AS BT AEAL.

® 35+04 @ 2345+95 @ 12.32+135

@ 7.35=0.89 ® 104.1 =37.8



7h b A=
TEAL,

23.

bcm

3cm

6cm

® 9 3 8 @ 7 B 6

@D 10



24.

WR7F ZAEG 24 B 231, AR I 047} He E54E
AL



25.

2 6,6,006,6
® 006,6,00

©6e06,0060
® ®0,.6,6,0
® 0,0, 00,0,



Z]20] 8cm O], E0]7F 5em 9 Y5

HE2]5-0] 6 cm ©]a, %=0]7F 3em 9 €75

24 ol7F 294 cm? Q1 F-=HA|

@
@
@ < EA27F6em 1 FSHA
@
®

Ho] Q=7 31.4cm ©|1, =9]7F 3em ¢ ¥7]=



